

# Manor Way Primary Academy Happy and Successful Learners School News 12th April 2019



# **Dear Parents and Carers**

What a fabulous end to a really successful Spring Term. The children have been so eggcited about spotting signs of the Easter Bunny today. Yet again, the Easter Bunny has been causing havoc around school, and leaving such a mess of straw and fluff behind as he delivers the eggs. Thank you for all your support this term. Have a fantastic Easter break and we look forward to seeing you in the summer term.

## **Easter Bonnet Parade**

Well what a day! We have been blown away by the efforts that the pupils have made today with their Easter Bonnets. What amazing, eggstraordinary creations we had!





















## **RSPCA**

Some of our Year 4 girls, Ellie, Lily and Harriet held a bake sale, in school, to raise money for the RSPCA. They raised a massive £202! Well done!

# Miss Moretto is Leaving us...

We would like to wish Miss Moretto all the very best in her new career, training to be Nursery Nurse. We know that she will be a huge asset to the Nursery that she is moving to and they are very lucky to have her as a member of staff. Thank you for being so brilliant during your time at Manor Way. We will all miss you but we wish you all the very best for your future.



# **Eco Day**

On Thursday 11th April, Manor Way were clad in green and got our green fingers out! The sun shone on us all day long and the children had a fabulous day thinking about the environment and being eco-friendly. Amongst the many activities planned, the children planted seeds and seedlings, made bug hotels and designed reusable eco-friendly bags that they proudly took home. A super day was had by all.

We would like to say a big 'Thank you!' to all the children and parents who supported the event by donating seeds and plants.

We would also like to thank Mrs Mason and the Eco Council for organising such a fantastic event.









#### Clubs Summer 1 Term

Clubs Summer	I CIIII					
Club	Year Group	Day	Time	Price Per session	Number of Weeks	Full Half Term Price
Times Table Rockstars	Year 4 - 6	Monday	Before School	FREE	4	FREE
KS1 Football	Year 1 - 2	Monday	After school	£3.00	4	£12.00
Art Club	Years 1 - 2	Monday	After school	£2.00	4	£8.00
SATs Club	Year 6	Monday	After School	FREE	4	FREE
Multi Skills	Year 1 - 2	Tuesday	Before School	£2.00	4	£8.00
Running	KS2	Tuesday	Lunchtime	FREE	4	FREE
Dance	Year 3 - 4	Tuesday	Lunchtime	FREE	4	FREE
Dodgeball	Year 3 - 6	Tuesday	After School	£3.00	4	£12.00
Basketball	Year 3 - 6	Tuesday	After School	£2.00	4	£8.00
Girls Football	Year 3 - 6	Wednesday	Lunchtime	FREE	4	FREE
Netball	Year 3 - 6	Wednesday	After School	£2.00	4	£8.00
Rugby	Year 3 - 6	Wednesday	After School	£2.00	4	£8.00
Musical Theatre	Year 2 - 6	Wednesday	After School	£2.00	4	£8.00
Fitness & Skills	Year R - 2	Wednesday	After School	£2.00	4	£8.00
KS1 Gymnastics	Year 1 - 2	Thursday	Lunchtime	FREE	4	FREE
KS2 Football	Year 3 - 6	Thursday	After School	£3.00	4	£18.00

а

Times Table Rockstars	Year 4 - 6	Friday	Before School	FREE	4	FREE
Tennis	Year 3 - 6	Friday	After School	£2.00	4	£8.00
KS2 Gymnastics	Year 3 - 6	Friday	After School	£2.00	4	£8.00
Golf	Year 3- 6	Friday	After School	£20.00 for 10 weeks	10	£20.00

**Dates for your Diary** 

29th April 2019 30th April 2019 Swimming Year 3 (3 of 10) KS1 Test Administration 2nd May 2019 Election Day - School Closed (open to year 6) 3rd May 2019 Year Group Spelling Test 6th May 2019 Bank Holiday - School Closed 7th May 2019 Swimming Year 3 (4 of 10) 10th May 2019 13th May 2019 SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school) 23rd May 2019 Year 6 Botanical Gardens Trip Break up
Swimming Year 3 (3 of 10) KS1 Test Administration  Ind May 2019 Election Day - School Closed (open to year 6)  Year Group Spelling Test Bank Holiday - School Closed Swimming Year 3 (4 of 10)  Swimming Year 3 (4 of 10)  Swimming Year 6 ends today  SATS Week Year 6  Swimming Year 3 (5 of 10)  Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm  Swimming Year 3 (6 of 10)  Swimming Year 3 (6 of 10)  Academy Photography (class pictures, Year 6 leavers, pre-school)  Year 6 Botanical Gardens Trip
KS1 Test Administration  2nd May 2019 Election Day - School Closed (open to year 6)  3rd May 2019 Year Group Spelling Test  6th May 2019 Bank Holiday - School Closed  7th May 2019 Swimming Year 3 (4 of 10)  10th May 2019 25/25 Challenge for Year 6 ends today  13th May 2019 SATs Week Year 6  14th May 2019 Swimming Year 3 (5 of 10)  16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm  21st May 2019 Swimming Year 3 (6 of 10)  22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school )  23rd May 2019 Year 6 Botanical Gardens Trip
2nd May 2019 Election Day - School Closed (open to year 6) 3rd May 2019 Year Group Spelling Test 6th May 2019 Bank Holiday - School Closed 7th May 2019 Swimming Year 3 (4 of 10) 10th May 2019 25/25 Challenge for Year 6 ends today 13th May 2019 SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school ) 23rd May 2019 Year 6 Botanical Gardens Trip
3rd May 2019 Year Group Spelling Test Bank Holiday - School Closed 7th May 2019 Swimming Year 3 (4 of 10) 10th May 2019 25/25 Challenge for Year 6 ends today 13th May 2019 SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school) 23rd May 2019 Year 6 Botanical Gardens Trip
Bank Holiday - School Closed  7th May 2019 Swimming Year 3 (4 of 10)  10th May 2019 25/25 Challenge for Year 6 ends today  SATs Week Year 6  14th May 2019 Swimming Year 3 (5 of 10)  16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm  21st May 2019 Swimming Year 3 (6 of 10)  22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school)  23rd May 2019 Year 6 Botanical Gardens Trip
7th May 2019 Swimming Year 3 (4 of 10) 10th May 2019 25/25 Challenge for Year 6 ends today 13th May 2019 SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school ) 23rd May 2019 Year 6 Botanical Gardens Trip
10th May 2019 25/25 Challenge for Year 6 ends today SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school) 23rd May 2019 Year 6 Botanical Gardens Trip
13th May 2019 SATs Week Year 6 14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school) 23rd May 2019 Year 6 Botanical Gardens Trip
14th May 2019 Swimming Year 3 (5 of 10) 16th May 2019 Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm 21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school) 23rd May 2019 Year 6 Botanical Gardens Trip
Mini Tennis Competition (Yr 3 & 4) at Halesowen Tennis Club 1pm - 3pm  21st May 2019 Swimming Year 3 (6 of 10)  22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school )  23rd May 2019 Year 6 Botanical Gardens Trip
21st May 2019 Swimming Year 3 (6 of 10) 22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school ) 23rd May 2019 Year 6 Botanical Gardens Trip
22nd May 2019 Academy Photography (class pictures, Year 6 leavers, pre-school ) 23rd May 2019 Year 6 Botanical Gardens Trip
23rd May 2019 Year 6 Botanical Gardens Trip
Break up
24th May 2019 Inset Day
3rd June 2019 Relax Kids Assembly
4th June 2019 Year 4 Trip to Ackers Adventure
5th June 2019 Reception Class heights & weights 9:30am
10th June 2019 Administration of Phonics check
Year 2 Trip to WILD Zoo
11th June 2019 Parents' Evening
12th June 2019 Year 5 trip to Think Tank
Parents' Evening
13th June 2019 Science Day
14th June 2019 Fathers' Day Celebration
15th June 2019 Friends of Manor Way Family Disco
18th June 2019 Phase Trust - Officially Amazing
19th June 2019 Maths Championships Y3/4 AM
BBC Orchestra concert 1:00pm Dudley Town Hall Class TBC
21st June 2019 Preschool trip to Wonderland
Pupil collaboration Senate Summit
Halesowen District Sports, Halesowen Athletics Club 11.30am
24th June 2019 INSET DAY
28th June 2019 Sports Day
2nd July Transition day
Windsor New Intake Day (pupils going to Windsor Sept 2019 out all day)
3rd July 2019 Reception trip to Hatton Country World
Reserve Sports Day
4th July 2019 Aladdin London trip (Y5/6)
10th July 2019 Year 1 trip to Cadbury World
11th July 2019 Year 6 Leavers' Assembly 1:30pm

12th July 2019	Year 6 Sleepover		
15th July 2019	Reports out to parents		
16th July 2019	KS2 Planet Jazz 1.30pm Dudley Performing Arts		
17th July 2019	KS1 Strings Dudley Performing Arts 9am		
18th July 2019	25/25 Reward Cinema Trip for Y6 pupils who achieved the challenge		
19th July 2019	Break up 1:30pm		

# **2019 Spring Term Dates**

Term Starts: Monday 07 January 2019

Half Term: Monday 18 February 2019 to Friday 22 February 2019

Term Ends: Friday 12 April 2019

#### **2019 Summer Term Dates**

Term Starts: Monday 29 April 2019

Half Term: Monday 27 May 2019 to Friday 31 May 2019

Term Ends: Monday 22 July 2019

# **Teacher Days 2018 - 2019**

Monday 7th January 2019 Friday 24th May 2019 Monday 24th June 2019 Monday 22nd July last day of term 2019 (Election Day 2nd May 2019)

## 2019/2020 Autumn Term Dates

Term Starts: Monday 02 September 2019

Half Term: Monday 28 October 2019 to Friday 01 November 2019

Term Ends: Friday 20 December 2019